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/ m(i+1, j) 0<j<




o-1H @i (BhSMNLIFE)
O SRR

1. m(1, O) R WERWE, N TTHET:
If m(l, C) =m(2, C)
Then x,=0;
Else x;=1;

2. TR x,=0, Am(2, C)ZkL:HiE BN,

3. W x,=1, Hm(2, C-w) 4k 21 1E LR,



o-1 5Bl (ENEMEIAE)

- Ff18] & A4 1%
- THEAYT B TH]

*O(Cn)
— & s LB IS 8] : O(n)
- BT RN O(Cn)
- FE|E A4
_ 0(Cn)




RIM=RRKRH

mE A

O EAFEM, Wltna[l=3, 12, 15, 23,29, 37, 45

o HlWitERxe BERHY, &
HIAL &

HLAERUEH T (Rl




RIM=RRKRH

(23 312 |1215)] |1529] |23,29) |(29,37) |(37.45) |45, +)
0 —NIREN

O N EL: xp, Xy, ...y X,

O MR (-0, x;), (X, Xy), ..., (x,, + 0)

O X TEEN X
o EFHHETTERAR DT
o HTHAHRICRACK Tx



RIM=RRKRH

O &L — XL Z o] @
O My N\
* ﬁ?i&%é\{xl, Xy, ...,Xn}

do P q1 P> e P qn

Probability

O Fayth: RPE SRR
o« £ XK TR ERAT RS (EEBORED s/

ET)=Y plve) + D q;d, ciFIdis g o s g
i=1 j=0



RIM=RRKRH

(-99, X1)

E(T)= Zp,<1+c) 0 gdy I BIPI S RIS SR IE

- Depth | Contribution

(%5, %) [exs +)

x1 0.05 1
et Tk (RREHDHBE

- o ° 005 B 5 TR

x3 0.1 1 0.2 |
- Expectation

N i~ : > 2.9

(-0, x1) 0.05 ) 0.1

(x3, x4) 0.05 3 0.15

(x4, +0) 0.3 3 1.2



BRIM=RiR®H

E(T)= Zpl<1+c)+2q, o cURIdiS By P A I 2 2R (5

(xb xS)

Contribution

Node  Probabilty BTN

x1 0.05 3 02

Stk TR IR DHB R
- o : 015 e 2 TR
X3 0.1 1 0.2 |

Expectation

x4 03 0 0.3 - —
(-0, x1)  0.05 4 0.2
(’XIa x2) 0.05 4 0.2
(x2,x3) 0.05 3 0.15
(x4, +0) 0.3 1 0.3



A TN N T
Probability
D%ﬁ?ﬁﬁ@ﬁﬂ?
O WIHREMW T
o FRfHRX T R IREE e,
o AT R, x0 ) BIIRE N,

o TR

E(N) =Y p(+c) +>q,d,
i=1 J=0



RIM=RRKRH

O &L — XL Z o] @
o I
* ﬁ?i&%é\{xl, X9y veey Xy }

) N ) Y Y

Weight

o : “XHRWT
o B Hx T RITREE Ae,
o MY R, xADIIRE A,
o LAk Hbw: He/MUART BREL

E(T)=) p,(+c) + D q,d,
i=1 j=0




RIM=RRKRH

O WTREE XA BT = Zpl<1+c)+2q, b RIS P 4 AR 5 R R

i=1

N e
q

Weight di

A — XA ER, HTPx R o

0 w(i,j)=¢q,,+p;+...+p;+q,
O3 WU, BFT1 AT TR, SR, SRR (R

E(T) = p, +[ET) +w(i,r =D]+[E(T,) +w(r +1, j)]

E(T) = wi, )+ E(T) + E(T,)



8 =R F 6 _l

O UL T 25H
O BT AR A BB — XA At

IIE_--- B
Pi

Weight q;
o A4
o TR0 LA N A B Bt — SCARL A

) P

Weight qi1 D . 1

o« Tyre I B R AN A e ft — X%‘EE%’?W

IIE_-- (5. %71

Weight q;




RIM=RRKRH

0 RE®G, )25t A T MAMEN RN R EZHR N

Pi e Pj q;

Weight qi1
O B IXERM Lhx, (i<r <)) AR, |
E(@,j)=p +[EGr-D)+wi,r=D]+[E(r+1Lj)+w(r+1,j)]

EG j))=wi, )+ EGr-1)+E(r+1,))



RIM=RRKRH

0 RE®G, )25t A T MAMEN RN R EZHR N

N e N Y

Weight

O UIRAFHEMR T &L, T

.. 0 j:i_l
E@, )= mln{E(l r—1D+E(r+1,7)+w(,j)} <]

<<<<<

o« H, EG, -85 BUR R B e = XA

oo )

Weight di1



RIM=RRKRH

O EE o))

E(1,6)
//\\
E(1,1) E(3.6) E(1,2) | E(4.6)
N
0 j=i-1

E(i»j):{%i?{E(i,r_1)+E(r+l,j)+W(iaj)} 1< ]



RIM=RRKRH

O TNSRXI F0E
o KE(1,4)

0 =i—1
.. J =1
E(Z,J)={




RL=R¥ R

- BHE S

* E[I:n+1; 0:n]: FFAEDACARE RN
* W[I: n+1; 0:n]: FHAEARITIE =

* Root[I:n; 1:n]: Root(i, j)ic.3x ¥ 7] @i
X oees x,}ﬂ'?‘Wﬁﬁﬁ’EEl‘ﬁE




RIM=RRKRH

Optimal-BST(p, g, n)
For i=1 To nt+I Do
E@G,i-1) =0,
WG, i-1) = q;. 5
For I=1 To n Do
For i=1 To n-l+1 Do
j=itl-1;
E(, j)=co;
W(l) ]) = W(l, .] '1) +p j+qj;
For r=i To j Do
t=E(i, r-1)+E(r+l, j)+W(i, j);
If <E(,j)
Then E(i, j)=t; Root(i, j)=r;
Return E and Root




RIM=RRKRH

- BrE) & 1%
(7 F)_A/ZTEH _:}
- B TR R 414 N 0(mn3)

- FEEHMN
- TANMAD x(n+DEAH, —PnxnZA
- 0O(n?)

=\

B V7%
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